2 MGI, Engl., Year 5, 2nd Class Test (1. HJ 09/10), 3rd Dec. 09, Parallelarbeit

‘Complete the sentences about the Simpsons family. Use the s-genitive.

Pty
BART

example: Selma is Ling’s

LiSA MAGGIE LING

(Ling) wother

Bart is M I/J

(Homer) NA

o
Marge is &CM o)

(Lisa) mwdwr

Abraham is M )

A
Jackie is ,CLM@'O

What the Simpsons have got / haven’t got
a.) Fill in the correct forms: have / has got or haven’t/ hasn’t got.

@ Make positive sentences.

@ Make negative lon ganswers 3 s

(Maggie) _7@%1444 M""
(Ling) M/M //QM/VMM

Homer is W j’,( (G: verheiratet mit) Marge.
Ling is an 0'\4«(44, (,w (G: Einzelkind). 10

a.) The parents (Marge / Homer) ,gmm-l //ql,o* acar, |butthey ﬂvow{ /vw* /a,gJ"/ a bus.

v W
b.) Maggie _}wf) /ﬂur-’f" a dummy (G: Schnuller), but she «KAV) ot /2/04' a horse.
v v

? Make questions.

@ Make negative short answers.

jiendshere? | Me , Rt Kasw't

(8 X/M) Abraham /2,05{'

d.) M the Simpsons i /,IGA)* a horse? A[ﬂ’ , ]t}\b}, Jwvwbv\'*'
Y

U
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